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TIME AND WORK

Solved Examples

1. Raj can do a piece of work in 20 days and

Rohan can do it in 12 days. How long will they
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take, if both work together?

A. 5 days

Bﬁld
.6 days

1
C. 75 days

D. 8days

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ejxq8gxLw7iN

2. A and B together can complete a piece of
work in 72 days, B and C together can
complete it in 120 days, and A and C together
in 90 days. In what time can A alone complete

the work ?

A. 55 days

B. 120 days

C. 110 days

D. 60 days

Answer: B


https://dl.doubtnut.com/l/_pOrjXz4m7Q8d

° Watch Video Solution

3.1f 3 men or 4 women can plough a field in 43

days, how long will 7 men and 5 women take

to plough it?

A. 24 days

B. 10 days

C. 5 days

D. 12 days

Answer: D


https://dl.doubtnut.com/l/_pOrjXz4m7Q8d
https://dl.doubtnut.com/l/_UKJTtebpTPxI

° Watch Video Solution

4. Pipe A can fill a tank in 30 hours and pipe B
in 45 hour. If both the pipes are opened in an
empty tank how much time will they take to fill
it?

A.20h

B. 10h

C.15h

D. 12h


https://dl.doubtnut.com/l/_UKJTtebpTPxI
https://dl.doubtnut.com/l/_VXj1Le7AA2G3

Answer: A

o Watch Video Solution

5. Two pipes A and B can fill a tank in 36 min
and 45 min, respectively. A pipe 'C' can empty
the tank in 30 min. If all the three pipes are
opened simultaneously, then in how much

time the tank will be completely filled?

A. 6h

B.1h


https://dl.doubtnut.com/l/_VXj1Le7AA2G3
https://dl.doubtnut.com/l/_brsrB4X8Vets

C.3h

D.4 h

Answer: B

° Watch Video Solution

Exam Booster For Cracking Exam

1. A can do a piece of work in 24 days. If B is

60 % more efficient than A, then the number


https://dl.doubtnut.com/l/_brsrB4X8Vets
https://dl.doubtnut.com/l/_W4H9yvLrBerZ

of days required by B to do the same piece of

work is :

A. 17 days

B. 18 days

C. 15 days

D. 12 days

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_W4H9yvLrBerZ

2. A sum of money is sufficient to pay As
wages for 21 days and B's wages for 28 days.
The same money is sufficient to pay the wages

of both for
A. 22 days
B. 26 days
1
C. 245 days

D. 12 days

Answer: D

‘ ° Wiak hh \AAA CAaliikianm
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3. A cistern which has a leak in the bottom is

filled in 15 h. Had there been no leak it can be

filled in 12 h. If the cistern is full, the leak can

empty it in

A.20 h

B. 60 h

C.45h

D.46 h


https://dl.doubtnut.com/l/_hRxpr3mZd7vK
https://dl.doubtnut.com/l/_GTRiZf2LoBGv

Answer: B

o Watch Video Solution

4. 24 men can complete a job in 40 days. The

number men required to complete the job in

32 days is:

A. 32 men

B. 30 men

C.35 men

D. 36 men


https://dl.doubtnut.com/l/_GTRiZf2LoBGv
https://dl.doubtnut.com/l/_GRqhtnMD8voy

Answer: B

o Watch Video Solution

5. A can finish a work in 12 days and B can do it
in 15 days. ’After A had worked for 3 days, B
also joined A to finish the remaining work. In
how many days, the remaining work will be

finished?

A5

B.5—


https://dl.doubtnut.com/l/_GRqhtnMD8voy
https://dl.doubtnut.com/l/_YBcIyf6V74YL

C.4—

D.6

Answer: A

o Watch Video Solution

6. If a work can be completed by A in 30 days
and by B in 60 days. Then, the number of days
taken by them to complete the work, working

together is


https://dl.doubtnut.com/l/_YBcIyf6V74YL
https://dl.doubtnut.com/l/_z9lWyamom7KK

A. 25 days

B. 45 days

C. 50 days

D. 20 days

Answer: D

o Watch Video Solution

7.1f x men can do a work in z days. Then, the
number of days taken by (x + y) men to do this

is


https://dl.doubtnut.com/l/_z9lWyamom7KK
https://dl.doubtnut.com/l/_w6ocBrFr47ut

Answer: B

o Watch Video Solution

8. A and B can complete a task in 30 days when
working together after A and B have been

working together for 11 days, B is called away


https://dl.doubtnut.com/l/_w6ocBrFr47ut
https://dl.doubtnut.com/l/_1N8gxUNqjhxR

and A, all by himself completes the task in the
next 28 days. Had A been working alone, the
number of days taken by him to complete the

task would have been :

A473
11

B.42—

C. 03—
5311

4
D. 44—
19

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1N8gxUNqjhxR

9.9 men finish one-third work in 10 days. The
number of additional men required for
finishing the remaining work in 2 more days
will be

A.78

B. 81

C.55

D. 30

Answer: B



https://dl.doubtnut.com/l/_1N8gxUNqjhxR
https://dl.doubtnut.com/l/_IP3DaUV8xY83

I O Watch Video Solution

10. Ravi alone does a piece of work in 2 days
and Rajesh does it in 6 days. In how many days

will the two do it together?

A.1day

Bld
. day

Clld
.15 day

D. None of these

Answer: C


https://dl.doubtnut.com/l/_IP3DaUV8xY83
https://dl.doubtnut.com/l/_SqTWJcIKrxhe

° Watch Video Solution

11. X can do 1 of a work in 12 days. In how

many days X can finish the 1/2 work?

A. 8 days

B. 7 days

C. 6 days

D. None of these

Answer: A

| 8 l


https://dl.doubtnut.com/l/_SqTWJcIKrxhe
https://dl.doubtnut.com/l/_KojA57iFU0KW

12. Ravi can build a wall in the same time in
which Mahesh and Suresh together do it. If
Ravi and Mahesh together could do it in 10
days and Suresh alone in 15 days. In what time
Mahesh alone do it?

A. 50 days

B. 60 days

C. 59 days

D. None of these


https://dl.doubtnut.com/l/_KojA57iFU0KW
https://dl.doubtnut.com/l/_VGN09EnCWUzc

Answer: B

o Watch Video Solution

13. Sita can do a work in 15 days and Gita can
do it in 25 days and Meera in 30 days. How
long will they take to do the work, if they work
together?

A. 7 days

B. 6 days

C. 7/50 days


https://dl.doubtnut.com/l/_VGN09EnCWUzc
https://dl.doubtnut.com/l/_hH49pn262Q1D

D. None of these

Answer: D

° Watch Video Solution

14.7 men and 8 boys can do a piece of work in
2 days. 4 men and 12 boys can do 29/56 of the
same work in 1 day, in how many days will 1

man do this work?

A. 28 days


https://dl.doubtnut.com/l/_hH49pn262Q1D
https://dl.doubtnut.com/l/_aiDIIJf45rMT

B. 26 days

C. 50 days

D. None of these

Answer: A

o Watch Video Solution

15. 2 men undertake to do a job for 1400. One
can do it alone in 7 days and the other in 8

days. With the assistance of a boy they finish


https://dl.doubtnut.com/l/_aiDIIJf45rMT
https://dl.doubtnut.com/l/_2qLLWkkET7GG

the work in 3 days. How should the money be

divided?

A. 600,525,275

B. 600,275,525

C. 525,600,275

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2qLLWkkET7GG

16. A group of workers engaged in plastering a
wall, completed half of the work in one day

and Zth of the remaining work the next day. If

still 45m? of wall remained to be plastered.
What was the area of the wall?

A. 125m’

B. 125cm”

C. 120m’

D. 120cm?

Answer: C


https://dl.doubtnut.com/l/_rc3V2o3E0eKM

° Watch Video Solution

17. A can do a piece of work in 9 days, B in 12
days and C in 15 days. They undertake to
complete a job for 7050. If the wages are
divided proportional to the work done, the

share of A (in) is

A. 7050

B.3000

C. 180


https://dl.doubtnut.com/l/_rc3V2o3E0eKM
https://dl.doubtnut.com/l/_GdKXwNtMu9nT

D. None of these

Answer: B

o Watch Video Solution

18. A, B and C are three taps in a tank. Taps A
and B can fill the tank independently in 20 min
and 40 min, respectively. Tap C can empty the
tank in 60 min. If all the three taps are opened
together, how long will they take to fill the

tank?


https://dl.doubtnut.com/l/_GdKXwNtMu9nT
https://dl.doubtnut.com/l/_GfPBrMPhkWOd

A. 17 min

Bl71 [
175 min

C171 [
17 min

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GfPBrMPhkWOd

